Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam

Rifles Examination 2024

[Exam Date 23/02/2024
Exam Time 2:30 PM - 3:30 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q.1

Ans

1. H
2 G
3 B
4. P

Q.2

Ans

Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
¢ d o ¢ dcod
1. ocdd

2. doco
3. 00CO

« 4. ocdo

Q.3

Ans

Six family members P, Q. R, S, T, and U are seated at a circular table facing each other. S is to the immediate left of U,
and Q is second to the left of S. P is second to the left of R. Who is the immediate neighbour of both U and P?

1. §
2. p
5. Q

4 T

Q.4

Ans

In the following question, select the missing number from the given series.

49, 54, 41, 62, 33,70, 2




Q.5

Ans

1. x and +, 2 and 4
2.

3.

« 4 +and+, 7 and 4

Q.6

Ans

Select the option that is related to the third word in the same way as the second word is related to the first word.

Cardiologist : Heart :: Nephrologist : ?
1. Heart

« 2. Kidneys
3. Lungs

4. Liver

Q7

Ans

Pointing towards a photograph of a man, Rimi said, *He is the brother of my father’s son™. How man is related to Rimi?
1. Father
2. Sister
« 3. Brother
4. Mother

Q.8

Ans

& 1.




Q.9

Ans 1. 190
2. 192
3 184
4. 188
Q.10
Ans




Q.11

Ans
1. >/
o 2. X—
3. ‘/<_
4. ‘&
Q.12
Ans o« 1. M
2. 7
3. X

4 N




Q.13

Ans

1. 2.4.1.3.5
2. 2.14.3.5
3 23415
4. 2.3.1.54

Q.14

Ans




Q.15

Ans f 1.

2. Neither conclusion I nor IT follows
3.
4,

Q.16 Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third
letter cluster and the second letter cluster is related to the first letter cluster.
AFFECT : FAFETC :: BRIGHT : RBIGTH :: EITHER : 7

Ans 1. IEHTRE

+ 2. [JETHRE
3. TEIERH
4. ERHTEI
Q.17
Ans 1.1
2. H
3. L
4]
Q.18
Ans 1400
2. 500
« 3. 600
4. 450
Q.19 In a certain code language, if TABLE is coded as '80', CHAIR is coded as '78". then what will WINDOW be coded as?
Ans

1210
2. 176
3. 88
4112




Q.20
Ans 1. 3and 9
2. 8and 7
3 8and9
4 14 and 10
Section : Part-B-General Knowledge and General awareness
Q.1

Ans 1. Sikhism
+ 2. Buddhism
3. Islam

4. Jainism

Q.2

Ans 1. sgven

3. five

Q.3

Ans 1. Diwali

3. Eid al-Fitr
4. Wavratri

Q.4
Ans 1. Cricket
« 2. Squash

3. Archery

4. Boxing

Q.5

Ans 1.

2




Q.6

Ans

Which union territory of India has the highest population density per 2011 census?

« 1. NCT of Delhi

2. Daman and Diu
3.

4. Ladakh

Q.7

Ans

is an initiative of National Bal Bhavan (NBB) to identify the creative potential of children in four main streams
and motivate them to pursue and enhance their creative potential. The evaluation and selection is a complex process and

procedure which need constant refinement and inputs from creative artists and experts in various fields.
& 1.
2.
3.

4.

Q.8

Ans

Q.9

Ans

Anant Maheshwari, the President of India, has been appointed as the Chairperson of Nasscom for the period
2023-24.

1. TCS
" 2. Microsoft
3. Apple

4. Google

Q.10

Ans

1. Kathak

2. Odissl
V3

4. Sattriva

Q.1

Ans

3.




Q.12

Ans 1
2.
3. Tamil Nadu
4. Maharashtra
Q.13 Which of the following five year plan of India aim was to make India a 'self-reliant’ and 'self-generating' economy?
Ans 1.
2.
3.
4.
Q.14
Ans 11945
2. 1935
« 3. 1930
4. 1926
Q.15
Ans 1.
2.
o 3.
4.
Q.16
Ans 1. Speaker
2. President
3.
4.
Q.17
Ans 1
2.
3.
4.
Q18 pt, Bhimsen Joshi has received highest civilian award Bharat Ratna in which of the following vear?
Ans 1. 2002

2.2004
3. 2006
o 4.2009




Q19 In Jong jump, the take-off has to be made from a cm wide board one meter away from a pit.

Ans 1. 15
2. 24
3. 12
4 20
Q.20

Ans 1. 193]
2. 1935
3. 1921
4. 1925

Section : Part-C-Elementary Mathematics

Q1 IfP:Q=6:5and Q:R=23:4, then what is the value of Q : (P +R)?
Ans 1.15:37
2. 14 : 37
3. 13: 38
¥4 15:38

Q.2

Ans 1. 20%
2. 18%

3. 15%

¥4 22%

Q3 The ratio of the cost price and selling price of a bulb is 20 : 25. What is the profit percentage?
Ans 1. 20 percent
2.
3. 15 percent

4.

Q4 1f 75 is subtracted from 25 percent of a number, then the result is 1225. What is the value of the number?

Ans 15300
2. 5000

3. 5100

« 4. 5200




Q.5

Ans

Height of a cone is 15 cm and radius of its base is 14 cm. What is the volume of the cone?

3240 cm®
2. 2860 cm®
¥ % 3080 cm®
43420 cm?

Q.6

Ans

Average of 90 results is 38. If 4 is subtracted from each result, then what will be the new average of the results?
1. 37
2 34
3. 36
4. 32

Q.7

Ans

1. Rs. 31247
2.

3.
4. Rs. 34347

Q.8

Ans

The marked price of an article is Rs. 1850. If a discount of 60 percent is given, then what will be the selling price of the
article?

1. Rs. 750
2. Rs. 840
3. Rs. 860
« 4 Rs. 740

Q.9

Ans

1. Rs. 3642
+ 2. Rs. 3148.8
3. Rs. 2976

4. Rs. 3258.8

Q.10

Ans

1. 20
2. 15
3. 12
« 4 10

Q.11

Ans

In a mixture water and milk are in the ratio of 8 : 21. If it contains 26 litres more milk than water, then what will be the
quantity of milk in mixture?

1. 46 litres
2. 26 litres
3. 16 litres
« 4 42 litres




Q.12

Ans

1. 100 kmv/hr
2. 440/3 km/hr
3.

« 4 320/3 knvhr

Q.13

Ans

Anil sells a table at a loss of 20 percent. If he sells it for Rs. 160 more, then he earns a profit of 20 percent. What should

be the selling price of the table to earn a profit of 25 percent?
1. Rs. 750
2. Rs. 800
+ 3. Rs. 500
4. Rs. 700

Q.14

Ans

Of the 5 subjects, the average marks of Rakesh in first 3 subjects was 80 and the average marks in the last 3 subjects
was 92. If his marks in the third subject was 51, then what was his average marks in all the 5 subjects?

1. Q0
2. 102
397
V4 93

Q.15

Ans

« 1. 132
2. 139
3. 130
4. 135

Q.16

Ans

1. Rs. 1200
+ 2. Rs. 2400

3. Rs. 1600

4. Rs. 800

Q17

Ans

Find the value of 58—25 + 5 + {55 + 25— (30 + 20— 10 + 30)}.

1. 68
¥ 2. 63
3. 56
4. 66

Q.18

Ans

The HCF of two numbers is 14 and their LCM is 490. If one number is 70. find the other number.

174
2. 78
3. @5
4 08




Q.19

Ans 1. 125 days
2. 110 days

« 3. 100 days

4. 140 days

Q20 1f |5 men can build a house in 18 days, how many days will it take for 12 men to build the same house?

Ans 1. 20 days

2. 19 days
« 3. 22.5 days
4. 18 days
Q.1
Ans 1. take
2. voice
« 3 call
4. say
Q.2
Ans 1. To give up
2,
3. To give in
4
Q3
Ans 1. Callous
2. Benign
3. Agile
+ 4. Interested




Q.4

Ans 1. Opulence
2. Rational
3. Surplus
« 4. Dearth
Q5 Select the sentence with no spelling errors.
Ans 1
2.
3
4. After anchoring, the wind was variable and lite from the westen quarter.
Q.6
Ans 1
2.
3.
4.
Q7
Ans 1.
2
3.
4.
Q.
Ans 1.
2
3.




Q.9

Ans 1.
2.
3.
4. No error
Q.10
Ans 1.
o 2.
3. No error
4.
Q.11
Ans 1. Wellness
2. Disquiet
3. Angst
4. Unease
Q.12
Ans 1. obsolete
2. irreplicable
3. candid
« 4. omnipresent
Q.13
Ans

1.

2
3. No improvement

4.




Q.14

Ans 1. sense
2. attention
o 3.

4. diminish

Q.15

Ans 1. No error
2. He had decided to
3.

4.

Comprehension:

SubQuestion No : 16

Q.16
Ans 1. unintentional
«" 2. generally
3. rigorous
4. casuality
Comprehension:
SubQuestion No : 17
Q.17
Ans 1. letter

2. poetry
3. paragraph
" 4. words




Comprehension:

SubQuestion No : 18
Q.18
Ans «" 1. manufactured
2. consider
3. fasten

4. sew

Comprehension:

SubQuestion No : 19

Q.19
Ans 1. faith
2.
« 3. deceit
4. harmony
Comprehension:
SubQuestion No : 20
Q.20

Ans 1. palms

2. heart
+ 3. hands
4. mind

Section : Part-D-Hindi




Q1

Ans

f3U 77U WIsg &1 TaTTard Jid Hifod |
HERI

1. Had
v 2 T
5. qTd
4. hid

Q.2

Ans

fFraffad wy 8 3T T aR e & U, 39 et &1 997 &3 o QU MU GgeR & 2f 1 9d9y &0 T =
Sl g

fRfTTe @1 T 1 aga
v T 9d R RBR AT
2. STy b HIH DAl
3. TG §IHR UAT BT Fabra

4. Yalls & HIH HIAT

Q.3

Ans

[&U 71U g o Iferd faexIel Xeg &1 9a B Rad R &1 gfd i

NS CARIE U I
1. gId

v R
3. 3feTad
4. T

Q.4

Ans

T 717 e &1 BeH ereg A9 AT

Q.5

Ans

feu T 9199 § ° TAd ol J1d S|

SHH ITH bl T Il g T
1 3l
2 JTH

v 3 efiof
4. 717




Q.6

Ans

T=aRET voT 7, X Teeat § U, 379 fFeT &1 999 1 31 a9 Tu9 & BT "@gr o= aer
ICETo=lC
"I & e e A @ I % HROT AANTT 7 &7 8 3751 7 7§ Fal

v T

Q.7

Ans

’T 71T T # [@ifehg 9 &1 d=F e AT HIeTv|
T 3y F 9 @ A

1.3_'i'g_ﬂ-

2. 37ERT

S M

4 AT

&

Q.8

Ans

fGT 7 a1 BT I8 HITT I1d Y, forgH 15 3fe 81
[PRIRTIRY S9UT Y g1 &1 & a9 $1 HaRIT ¢ od godl H HIB] IRGd Td g

. fhRIRER §9uT O
2 H BB IR 2M1d B
3. gaI g9 & dd Bl

v 4 R g g sl

Q.9

Ans

fEu T fashed! # 9 i fadheq Ffcgad &, Safd U el 6| 39 Hel [ddbed &l Ta di |
1. 3ifdhd T R 3G FHel|
2. 3ifdpd 3T 3R Hel|

v o 3ifdd ST R 3T Fel
4. 3iferd MY 3R He|

Q.10

Ans

few 1w ey &7 W@ifea g @1 e wee AT fifST

gy o7
1. AT
2. o

W 3. Hed

=

4 rerard




Q.11

Ans

Fofafad vy, GU U IR Aeedl # 9, 39 fddhe &1 9g9 &4 ol U 0 gerar & off & 9998 9 9 ad
CaGI

ge<uld & JHM ufusd
ERISERIGESE
v 2. 9§ qfusd
S RIEINSE
4 SFIET B

Q.12

Ans

T 997 #, 97 TFeat § ¥, 37 TeT e &7 999 FT F I F O F qe F FFheT
gl
et 919 9 IR-ER SR &

1. TRIES
2. HTATT
3. HTHIOT

4 IR

Q.13

Ans

frafoiea v #, 9% Recdl # ¥, 3T [@FeT o7 997 #{ A ®5aF H U 7T g & garIar=r
e FT Hel AFeT £ |
AT gl (I9) AT HET Fr gee & v 3@ g

v 1. HIceHST
2. Rt
o e
4.;1'—5\1;_[

Q.14

Ans

fau U areiw & g Irfe weg 3 I
SR T ST 31

1. @,ﬂfgﬂ

2 Je¥
« 3 FRUIATT

SEISIIE G

Q.15

Ans

faT 7T aTeg # T 7Tad gd 31d Sl

T34 TIeg &I YIRT UHHS A 20+ Sl H a1 g
G
2 Feq

s g
o 4 Add




Q.16

Ans

Comprehension:

I R U e © g s B AU § IR e Rad ®iF & IR e QU g S aRi A d s
faemeq fad ®IM &1 gid HaT-

TE AT ARG AR WG A H U (1) Seldl Tet gd 39 (2)_ 9 FueH & U S It 3
@) DIV fhar 11| g8 & S el Ul Fifds (4)_ 3R HIU Soi! & Alferd U1 AR H UR
S RUTar(s) & Bl bag U T 3

SubQuestion No : 16

R 1 & foTT 9o Iugad fddbed &1 994 Fifod|
. I
2. Afga
3 g Y

4 HFE»'-F[

Q.17

Ans

Comprehension:

I fRu U e ¥ g Wieg B AU T § iR Udie Rad M & IR e Ry U g ST aRki A Sl a1
faereq fYad M &1 gid HaT-

O ARTE < Ugell SR Wi gal &b [eU (1) Soldl qay Ugd 39 (2)_ ¥ e & [ S Il &bl
@) DIV foar 1| g8 & S T8l Ul Fifds (4)_ R HIT Sor! & Alfeids (U1 AZiH H YR
S AuTEI(5) & Dl has daR el U

SubQuestion No : 17
R 2 & foTT 9o Iugad [ddbed &1 994 Hifod |
o 1 HH]
2. A&
s TR
4 gad

Q.18

Ans

Comprehension:

e fRu e e ¥ g wies ol fau U § ok vdie Rad =M & 9R e Ryl s aRi g a s
faere e I @1 gfd HT-

o AR A Ugell SR WG gal & W (1) Soldl Ged Ugai 39 (2)_ ¥ Fiued & U St Il !
(B)___ 1 VI o T U8 HIH AWM el o i (4)_ 37R HIG SoiHl & A1fcid -1 HLiHl H gUR
& [ UE(5)_ & &l dhls d4R el Y|

SubQuestion No : 18

R 3 & foTT 9o Iugad fddbed &1 984 Fifod |
1. ﬁ!rqﬂ




Q.19

Ans

Comprehension:

T RRu U e © g Wes B AU § IR Ude Rad ®F & IR e U g s aRi A d s A
faered e =M 1 gfd HT-

TE A AT SR UG e H W (1) ST AT UASH (2)__ 9 e & U S IRt &l
@) DIV foar Tl g8 & S el Ul Fifds (4)_ 3R HIU Sorl & Alfeids U1 AR H UR
S iar(s) B Bl Bag U e A

SubQuestion No : 19

R 4 & ToTT 9o Iugad [ddbed &1 99+ Hifod |
I FHE
2. r@ﬂ

v BREH!
4 RMER

Q.20

Ans

Comprehension:

E U U e F g wes ©1s AU U € SR Y Rad ®F & 9R G R E | s IR A g S a1
faereq fad ®M &1 gid SHaT-

O ART  Ugell SR Wi gal & (AW (1) wol dl 9ed Ugd 39 (2)__ ¥ e & U s IRl &bl
@) DIV far Tl g8 & S 8T U Fifds (4)_ R HIT o & Alfeids (O] ARIH H YR
S RUTET(5) B Dl dds dOR el U

SubQuestion No : 20

R 5 @ foTT T Iugad [dded &1 994 Fifod |






